
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Brüche in Prozent umrechnen

72% = ________ 50% = ________

20% = ________ 55% = ________

74% = ________ 60% = ________

93% = ________ 47% = ________

3% = ________ 85% = ________

95% = ________ 26% = ________

16% = ________ 43% = ________

62% = ________ 28% = ________

6% = ________ 63% = ________

43% = ________ 42% = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Brüche in Prozent umrechnen

72% =
25
18

50% =
2
1

20% =
5
1

55% =
20
11

74% =
50
37

60% =
5
3

93% =
100
93

47% =
100
47

3% =
100
3

85% =
20
17

95% =
20
19

26% =
50
13

16% =
25
4

43% =
100
43

62% =
50
31

28% =
25
7

6% =
50
3

63% =
100
63

43% =
100
43

42% =
50
21
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